[ 2 [ 3 [ 4 [ (] [ 7 [ _ [ ] [ 10 11 13 [ 18 [ A [ ]
NOTES:
1— ALL DIMENSION ARE IN MILLIMETERS.
al 2- DO NOT SCALE THE DRAWING Ia
3— DIAMETERS OF HOLE ARE AS FOLLOWS:
$21.5 mm FOR M20, $17.5 mm FOR M16
#13.5 mm FOR M12 BOLTS.
7 LEG EXT.6m TRANS & LONG FACE b e T AND ONE <P wasm BT B
o B/B OF ANGLE 2210.2 . O NUTS AND THO'SPRRG WASHER.
7- THE STEEL MEMBER INDENTIFIED BY "H" ARE ST:52
OTHER MEMBERS ARE ST:37
- Y= ey T
723 SYMBOLS AND ABBREVIATIONS
2M16x35 2M16x35
N A ﬁ A DESCRIPTION SYMBOLE
(| 3
N PO 16x40 M16e40 A CENTER LINE C.L.
i m . % )MO N . PLATE PL R
S A \\M\\ 1n.wv N IS ANGLE L
£ Fe) 5 N/ &
oF % ¥ sPLICE SP
& g 3
o HIGH TENSILE HL
o BEND LINE B.L.
- 730 A 731 NEAR SIDE N.S. =
M16x45 os M16x35 A
HL45x3 HL45x3 FAR SIDE E.S.
| =12 mm HOLE 4 E
>W/\ >13.5 mm HOLE [}
“ IN.WM@ 3 ° A lNdcxuo.».u W& Imw NMuu >17.5 mm HOLE (e} =
X
2 VIEW LEG EX.6M e 2
F 2M16x35 \ l>25mm HoLe (] v
165 w % ¢ A 737 (\ HOLE FOR STEP BOLT [©]
x 1 8o B M16x35 A = = )
. 121 @ W16 HL45x3 A SPECIFICATION FOR MATERIALS -
744 pEAY
mw HPL5x110 R \
o o N 745 A\2 e °\
= 2 ~&// o &) 5 N
S o AN/ &F 3M16x35 745 e
© \kN P 05 3M16x35
- o wu’ M\
kg ,
[ | 739 1
M16x45 175 | M16x45
M16x35
HL45x3 M16x35 \/
-+ .
—————] /45
! 3 ¥ i
1 o and materiel is allowed
2\~ M16x35 Rote: e e e of consultant
)
- %, -
M16xd0 \ LIST OF BOLT & NUTS & WASHERS INCLUDING 3% EXTRA
J M16x35 \ LEVGH ¥ — . J
M16x35mm 50 )
721 I 742 W1Gx40mm 12
- HL130x9 §, ° HL45x3 750 M16x45mm 7
722 §.° A
HPL8x1308s " , 165 & 745 M_me.&s_ I_.wl
«l BM16155 721 0 N16e40 HLS0x3 M35 J: I«
X
- /[ /|2M16x40 0 N
v HPLEx130 A L
SECTION 1-1
" | | ]
VY H—,«NA| —.— SA JO
- 63 KV D.C TRANSMISSION LINE p—
HL45x3 YAZD REGIONAL ELECTRIC CO.
g MONENCO IRAN CO. —ﬂ vou DR
TENSION YyTM30 ARAE
[SEOTON OF O | APPROVED: B
- LEG EXT. &M
RS -l "= amm
ey il
P SZASANNT o
9 9088 JUl Slgise ol 9 Tl
T 3 T ] T ) T ] T 7 T | T ———— i —— — T 10 1| 13 | B | ]




